Name: due November 11 by 3:00 pm Pacific

Math 126 Homework Assignment 27 Fall 2020
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and determine the interval of convergence for the resulting series. (Note that finding the interval should

be very easy and require minimal effort.)

1. Use a geometric series to find a power series expression centered at 1 for the function f(z) =
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2. Use results in Section 3.11 (as well as some basic ideas) to find the sum of the series kz:l %
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3. Starting with the solution to problem 2 in Section 3.11 (it can be found in the back of the book) and

ks
taking derivatives, find a formula for the sum of the series Z k3z*. Use your formula to find Z
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